NLUL

22 wphmwwnwiph b unghwjuljul hwpgkph bwhwpupmput Bipwuljunipjui<<Quunplj>> kpkjuwbbkph wowlgnipyub YEnpnt MOUY-h
2016 plyulwmbh gqunmudubph/onipgopyu futiuniph Swnuynipinih

2w Uhwn
2/h Fwb wnwpluygh dhmq&l;l S I;hq Qnulwpp Qtnp phpuwt Eipwlw ubbnudptpph pwbwlikph puolunudp punn wdhutbph
wijuinulp Ip
P qhlip
1 2 3 4 5 6 hniiduphtnpyuw] dwpwn | wwphy [ dughu | hnibho | hnyghu jognunny Juimhﬂpllnllmhdphhn]hdphp phljnkdpkp
Zugudphpp :

1 |Zwg pupdp wnbkuwlh g 3650 | 370 | 1350500 | 310 | 280 ] 310 | 300 | 31071 300 | 310 | 310 ] 300 | 310 | 300 310
2 |[Zug 1-hu wbkuwlh lig 0
3 |Upnip pupdp wnbkuwlh g 0
4 |Upgnip 1-h nbuwlh g 0

Cunknkh 0
1 [(fnn liq 50 550 27500 4 4 4 ‘. 4 1 5 5 4 - < 4
2 | NMwhwénjugwé nnn g 50 | 1100 | 55000 4 4 4 4 4 4 5 5 4 B £ 4
3 |Bghyuwgnpkt wwhwédn g 40 900 36000 3 3 3 3 3 3 5 5 3 3 3 3
4 |Uhukn lig 50 920 46000 4 4 4 4 4 1 5 5 4 4 4 4
5 |Lnph hwwnhly g 80 1300 | 104000 10 10 10 10 10 10 10 10
6 |Nuy liq 100 730 73000 8 8 8 8 8 8 10 10 8 8 8 8

Quunpknku 0
1 |Pphud liq 153 500 76500 12 12 12 12 12 12 15 15 15 12 12 12
2 |Zuinudu]up lg 140 800 112000 11 11 1.3 11 i O | A i 13 13 18 11 11 i
3 |8nphuwdwup liq 75 300 22500 7 7 I 6 5 5 5 5 6 7 i 8
4 |Uyhwnwluwdwjup g 0
5 |Zw&up lig 0
6_|Piqmp Ugq 0
. Jupuwljuwdwjunh

thuphjukp (htpynyku) g 0

Uwljupnuknku 0
1 [dkpuhoby lig 100 400 40000 8 8 8 8 8 8 10 10 8 8 8 8
2 [Uwlwpnt lig 110 400 44000 10 10 10 10 10 10 10 10 10 10 10
3 |Uphpuw lig 0




Puiipuiptinku 0
1 |Yupunndhy lig 2150 | 200 430000 | 180 | 180 | 180 | 180 | 180 | 180 | 180 | 170 | 180 | 180 | 180 180
2 |Yununlp g 660 150 99000 55 55 55 55 55 55 55 55 55 85 5D 55
3 |Lnihy g 250 | 200 50000 50 50 50 50 50
4 |dwpnihg g 200 150 30000 40 40 40 40 40
5 |Fpdhy 4g 0
6 |Ignud g 0
7 |Unu lig 220 280 61600 18 18 18 18 18 18 18 18 18 18 18 22
8 |Uhunnp g 0
9 |Ququp g | 220 ) 200 [ 4e000 [ de ] 6] 18 [ 18 1e T a6 | 18 1 18 [nglhae | 18] 22
10 [Puqnily lig 150 | 200 30000 12 12 12 12 12 12 e iz 12 12 12 18
11 |Lnph Qutuy g 80 550 44000 30 30 20
12 |Punphowih liq 220 200 44000 50 60 60 50
13 |Mnubn g 220 | 200 44000 50 60 60 50
14 |Uniily g 0
15 [Uyuwhufu g 0
16 |[Ounuljunudp liq 0
17 |Ywbush fuwnp lig 40 1000 | 40000 3 3 3 3 3 3 3 5 5 3 3 3
18 [Uwjwp dJwnng g 0
19 |UdbknLly g 0
Gupnitigh U gl
dwphtun juwunp i
20 g 650 45500 7 . 6 5 5 5 5 5 5 6 7 ?
21 |vunnnh nbpl wwhwdnjugd g 0
22 |Yunuulph dwbpugdws pponf  lg 0
Uuwdpkpp 0
1 |Uhu vwwwjuph wnbnulub /4 Yg 700 | 2300 | 1610000 | 58 58 58 58 58 58 58 58 58 hg 58 62
2 |Uhu wmuwdwuph wbguljub hi Ug 0
3 |Uhu jungh, wbnulwlu, nulf Ug 0
4 |Uhu huh 150 1700 | 255000 1 12 12 12 12 12 12 12 12 e 12 18
5 |Zundh pniy 200 1600 | 320000 20 16 16 16 16 16 16 16 16 16 16 20
6 [zZudh Ypspwihu Uq 0
7_|Lpplpohly (! 0
8 |bpohl thwd g 0
9 |Bpohly wyhnws Ygq 0




10 |BpohYy Ghuwwhuinws liq 0
Quudphknp 0
1 |20 uunkgus g 0
2 |2y pupd g 0
3 |Qqub wwhwén g 0
Jupbwdpkpp 0
1 |uwp thwp | 500 | 400 | 200000 | 40 [ 40 | 40 [ 40 | 40 | 40 | 50 | 50 [ 40 | 40 [ 40 40
2 |Uwbdnih thwp | 800 420 | 336000 60 60 60 60 60 80 80 80 80 60 60 60
3 |[@pJuukp lig 150 | 1000 | 150000 | 12 12 12 12 12 12 12 12 12 12 12 18
4 |Ywpug liq 200 | 2500 | 500000 | 20 16 16 16 16 16 16 16 16 16 16 20
5 |[Yuplwonn lig 0
6 |TMwihp liq 220 | 2000 | 440000 | 18 18 18 18 18 18 18 18 18 18 18 22
7 |nwugpws Jup lig 40 1250 50000 o) 3 3 3 3 4 4 4 4 3 3 3
8 |Ywph thnoh g 0
9 |8ngnipwnn g 100 | 1250 | 125000 8 8 8 8 8 8 10 10 8 8 8 8
10 [NMunuunuy g 40 1800 | 72000 10 10 10 10
11 |TMwlphly lig 120 | 3000 | 360000 [ 10 10 10 10 10 10 10 10 10 10 10 10
Luphtit juplwppdujht
12 |Uptpp g 0
13 |Juplughli ohjw junp <
Unuuyunugus jupbught
14 |juwuntnipy g 0
15 |Uwmtjulub Ykp g 0
2nr  (hun) hwwn | 4400 80 352000 | 400 | 360 | 360 | 360 | 360 | 360 | 360 | 360 [ 360 | 360 | 360 400
Sninkp 0
1 |dEp lig 120 850 102000 | 10 10 10 10 10 10 10 10 10 10 10 10
2 |Zuqué jnin g 0
3 |Uwpqupht g 0
ZuubkUmupukp 0
1 |0k g 5 6000 | 30000 | 0O,4/0,4|0,4)0,4/0,4}0,4}10,5]0,5]0,4]0,4]0,4 0,4
2 |Unip& liq 0
3 |Un Ykpwyph g 75 200 15000 6 6 6 6 6 6 6 6 6 6 6 9
4 |Unugws wynubn ulb Uq 0
5 |Unugws wnwbn Yupdhp [ 0
6 |Fwthubkwnbplh g 0




7_|ludnphy (npnd) 4q 0
8 [ymbwsh snpugpud lig 0
9 |Unnu g 0
10 [Yhkwnsniy [iet 0
11 [Sndwwnh dwénly lig 50 950 47500 4 4 4 4 - A 5 5 A 4 4 4
12 [Awbppt g 0
13 [Bugulu g 0
Zymphp 0
1 [4mp dpgkph thvap | 1000 | 270 | 270000 | 80 80 80 80 80 90 90 90 90 80 80 80
2 [Zmp ququynpiws / (hunb| jhunp 0
Zwiipuht gnip
3_|wnihbppibiught wwpuyny | jpunp 0
4 |Ghuby 1hwp 0
Upghp 0
1 |vtdnp g 730 280 | 204400 | 60 60 60 60 60 70 60 60 60 60 60 60
2 |Mnd g 0
3 |Pwbwul g 120 850 102000 10 10 10 10 10 10 10 10 149, 10 10 10
4 |Qdbpnily g 150 110 16500 ' 50 50 50
5 |Lwphhg g 100 700 70000 25 25 25 25
6 |vunnn g 100 300 30000 50 50
7  [Uwlnupht lig 75 450 33750 25 25 25
8 |Uth g 0
9 |Swld lig 0
10 |[Ywnwynl lig 75 500 37500 25 25 25
11 |[Lnwn g 10 900 9000 5 5
12 |Ohpul lig 0
13 [Uuynp lg 50 400 20000 25 25
14 [Yhwpnt liq 0
15 [ahip g 0
16 |Guuy 0
17 |Utnuu liq 0
18 [2np dpgkp (shp) lig 15 3000 | 45000 8 7
19 [Quuhy g 15 1800 | 27000 8 7
20 |vnipdw lig 0
Lungpuiykupp 0




1 |Qkd g 80 1200 96000 6 6 6 6 7 i 7 7 7 7 7 7
2 |Unitpwpu lg 55 1300 71500 4,5 4,5 4,5 04,5 04,5 l8dnsnh 4,8 | 4,5 | 4,5 |84 8004, 5 B0
3 |Cnlnjuy g 150 1800 200000 'iZ. 8012, 512, 5¥12 Sl18, 5k 2,5]12,5|12,5(12, 5 e &1 12.5
4 |Yupudky g 45 1100 49500 4 4 JooBay N o5 ] 3.5 ] 3.5 | 3 lian 4 5
5 _[2Edpp Ug 0

6 |Uwpdujury g 0

7 |Bhujuspwpihp g 75 650 48750 6 6 6 6 6 8 7 6 6 6 6 6
8 [dwhih yg | 75 | 900 | B7600 | 6 | & | 6 6 6 | 8 i 6 6 6 6 6
9 [Cupupujuq g 300 380 114000 | 25 25 25 25 25 25 25 25 25 25 25 25
10 [Gulun g 5 | 4000 | 20000 0,5 0,50e,5]0,5]0,5 0,6} e 5)0,50a,5]0,5

11 [Uknp lig 2

12 |Zudu g 0

13 |Mpuihl liq 0

14 |Pnylh liq 0

15 [luinpbgkh g 0

16 |®puiphp ! 0
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=i Uhun
zh St smmplngh k. {Fudang nh Gnudwpp Qbnp phpuwh Eipuljw ubinudpkpph pubwlubph puojunidp pun wdhutkph
widuinulp dhu|[ p
= qhtp
1 2 3 4 O 6 hniijup [thEnpjudwpn uiyphy  [dughu hnitthu  |hnijhu  Jognuwninu |ubuwnbkdp] hnljnkdpH umbdpbp |ghlubdpkp
1,1]|2ug lig 3750 | 370 1387 500 g0} 310] 313|313k 313) 313 513 3131 3138 213 313 35
Puiguipbnku
1 [Hwupuindhy g
2 |Yunuudp lg
3 |Lmhl liq 875,01 200 195 000 19510198y 185 .195] 185
4 |9wpnihg g 13001 150 195 000 20000 260 - 260 “2el]. 260
5 |Unp g
6 |Mnuitn 4q
7 [Ywbwgh huwnp lg
8 (Uwjup (dwnny) g
Ungkp
1 |vudnp g 1200 | 280 336 000 1009y 160} 100} 100f 100} 1ody 109) 160] 100} 100} 100 100
2 |MEnd lig
3 |Puliub g 600 850 510 000 50 50 50 50 50 50 50 50 50 50 50 50
4 [Qdbkpnly liq
5 [Lwphby lg 100 | 700 70 000 250 35 25 25
6 [wnnn Uq
7 |Uwlguphh g 280 | 400 100 000 50 50 50 50 50
8 [Ukfu 4q
9 |Swmltd g
10 |Ywnuynl g 120 500 60 000 20 30 30 40
11 |Lnwn lg
12 |Uwnp liq 120 400 48 000 60 60
13 |Ohputt lg
14 |Yknwiu lig
15 |Yhdh 4q




Zymipkp

Zimp dpgkph jhuip | 3500 | 270 945000 | 250| 250| 300| 300f 300] 300] 300| 300| 300| 300 300 300
Zimp ququnpyus |jhup | 350 140 49 000 25 25 30 30 30 30 30 30 30 30 30 30
Puingpun]tupp

1 |Cnhnpuy g 200 | 1800 360 000 L T T T 17

2 |Yupudby lg 180 1100 198 000 15 15 15 15 15 15 15 15 15 15 L5 IE5

3 |@lujuspupihpe Uq 200 | 650 130 000 el Sl ) 17 o] il e 1] - 1 17

4 |dwdrh g 200 900 180 000 13 1y 15 17 17 1 L7 LY 1S 1% 17 ¢ 57

5 |Cwpwpunjugq Ug

6 |Zwju 4g

7_|9Gbhp g

8 |[Uwpdwjun g

9 |Pnylyh hww | 5000 70 350000 | 400| 400 420 420 420 420 420 420 420] 420] 420 420
Uuwdpbkpp

I e st LR 1T 500| 1550 775 000 D EENEE B BT W T A e 42

2 |Lppuipthp ™ wwduph |lg 600 2000 1 200 000 50 50 50 50 50 50 50 50 50 50 50 50

3 |2uy Ug

4 |ZuJh pnin g 750| 1600 1200 000 60 60 63 63 63 63 63 63 63 63 63 63

5 |Zugh Ypbpunthu g :

6 [Epohy g 150] 1550 232 500 ipf- 2wl 13k oagl asyy. w3l i3] ash . a3 ooagpr s 13
Juptwdpbpp

1 |Yup 1hup

2 |Yuplwonn g

3 [Ppquubp g 900 | 1000 900 000 7ol zal 7sl | gsbooasl gl o aERT TBY . R iEl  mn 75

4 |Mwuthp Uq 300 [ 1900 570 000 25 28 25 25 25 25 25 25 25 25 25 25

5 |Ywpug lg 250 | 2500 625 000 20 20 21 ail 21 21 21 pl 21 21 21 21

6 [Nwlphy huwn 720| 3000| 2160000 60 60 60 60 60 60 60 60 60 60 60 60

7 |Pwl thwip [ 1500 | 350 5250000l 128] 128 125] 125 128} 125] 12F] -125]  125p 125|125 125
Sninkp

1 [2kp (pmiuwlwh jmpfthup | 250 | 850 sppsun|  #Of. zel =zl 2l 2dl =21l 2 =) zafciEmr = 21
2ni  (hwwn) hwuwn | 6250 80 500 000 520\ 520  520| 520 520  520] 520). 520 528| G20 520 530
Zudbuntptikp

1 |Un YEpwlynh lig 80 200 16 000 7 7 7 7 7 7 i 7 7 f i 3

1 |jngnipun g 250] 1250 312 500 20 20 21 21 21 21 21 2 21 21 25 2

2 |Munuunuly liq 120] 1800 216 000 30 30 30 30
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